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i min  {lmin=460s T EE R r/min |1r/min=(1/60)s"!
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H, (X d 1d=24h=86400s R EFREEN u lua=1. 660540 X 10~ 2kg
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1.2.3
= T LB A =
1.2 == 22 U%RE
1.2.1 KERGHE =
1.2.1.1 kKESMHRE (F1.2.1.D e
#1211 KERGHER 7
o ™ ” = O~ -
(m) Gn) (619)] (mm) (mi) (km) E3
% 1 39. 37 3. 2808 1000 0. 0006214 0. 001 HE
¥ 0. 0254 1 0.0833 25. 4 0. 00001578 0. 0000254 %£E
# R 0. 3048 12 1 | 304.8 0. 0001894 0. 0003048 1
= % 0. 001 0.03937 | 0.0032808 1 0. 0000006214 0. 000001 N
w O 1609. 35 63360 5280 1609330 1 1. 60935
N B 1000 39370 3280.83 | 1000000 0. 62137 1 1.2
#. Im=100cm=1000mm=10%:m; 1lmm=0.03937in=39. 37mils (FE), 1.2
1.2.1.2 WF-EXEE (R1.2.1.2) S
F£1.2.1.2 H~T-HJBHRBEE Qin=25. 4mm)
-+ o [ 1 [ 2 [ 3 | 4« | s s | 71 | 8 9 ?_
J
(in) = * (mm) -4
0 0.0 25.4 50.8 76.2 101.6 | 127.0 | 152.4 | 177.8 ‘ 203.2 | 228.6 41
10 254.0 279. 4 304. 8 330.2 355. 6 381.0 5.4 0 4318 | 457.2 482. 6 |5
20 508. 0 533.4 558. 8 584. 2 609. 6 635.0 650 3 385.8 1 7112 1 736.6 1. 2.
30 762.0 787. 4 812. 8 838. 2 863. 6 889. 0 914. 4 39,8 965.2 990. 6
40 |1016.0 | 1041.4 |1066.8 |1092.2 | 1117.6 | 1143.0 | 1168-¢  1183.8  1219.2 | 1244.6 -
50 [1270.0 {1295.4 [1320.8 |1346.2 | 1371.6 | 1397.0 | 1422.4  1i47.8 . 1473.2 | 1498.6 "
60  [1524.0 |1549.4 {1574.8 11600.2 | 1625.6 | 1651.0 | 1676.4  1701.8 | 1727.2 | 1752.6
70 11778.0 |1803.4 |1828.8 |1854.2 | 1879.6 | 1905.0 | 1930.4 . 1955.8 | 1981.2 | 2006.6 —
80  12032.0 | 2057.4 |2082.8 |2108.2 | 2133.6 | 2159.0 | 2184.4 | 2209.8 | 2235.2 | 2260.6
90 [2286.0 | 2311.4 [2336.8 |2362.2 | 2387.6 | 2413.0 | 2438.4 | 2463.8 | 2489.2 ! 2514.6
100 [2540.0 |2565.4 |2590.8 |2616.2 | 2641.6 | 2667.0 | 2692.4  2717.8 . 2743.2 . 2768.6
1.2.1.3 Ar¥EE-F-ZA®E (R1.2.1.3)
#£1.2.1.3 SHET-ZBARER (1in=25. 4mm)
s 0 11/161 1/8 l3/16’ 1/4 '5/16} 3/8 '7/16| 1/2 {9/16‘ 5/8 111 15 3 4 %13/16} 7/8 j15/16 —
(in) = ¥ (mm) _
0 0.0 1.6 | 3.2 4864179 95]([11.1]12.7[14.3[15.¢ 17.5 19.1|20.6|22.2|23.8 1.2.
1 25.427.028.6|30.2131.8133.3}34.9136.5[381[39.7]41.3 +2.% 14.5|46.0|47.6]49.2 1.2,
2 50.8 | 52.4|54.0|55.6|57.2|587!60.3|61.9|63.5/(651(66.7 583 69.9 71.4|73.0|74.6
3 76.2177.8179.4 | 81.0|82.6|84.1|85.7|87.3088.9,90.5]92.1 §3.7.95.3|96.8]098.4[100.0 .
4 |101.6]103.2|104. 8|106.4|108.0[109.5[111.1|112.7]114. 3|115.9]117.5 116.1]120.7|122.2{123. 8[125. 4
5  1127.0|128.6(130.2|131.8]133.4/134. 9|136.5|138.1{139.7[141.3}142. ¢ 144.5|146.1[147.6]149.2|150.8
6 |152.4|154.0|155.6/|157.21158. 81160.3|161. 9|163.5[165.1[166.7[168.3 169.9|171.5[173.0|174.6{176. 2 =
7 1177.8|179.4|181.0|182. 6|184. 2[185. 71187. 3]188. 9[190.5[192. 1]193. 7 195. 3/196. 91198. 4{200. 0|201. 6 .
8 |203.21204.8)|206. 4]208.0]209. 6|211. 1|212. 7|214. 3]215. 9]217. 5]215. 1 220. 7[222. 3|223. 8{225. 4|227.0 =
9 |228.6]230.2]231.8]|233.4|235.0|236.5|238.1|239. 7{241. 3|242. 91244. 5|246. 1|247. 7(249. 2| 250. 8|252. 4 =
10 |254.0|255.6(257. 2|258. 8|260. 4|261. 9|263. 5(265. 1|266. 7|268. 3;269. 9/271. 5]273. 1|274. 6|276. 2|277- 8 E
1.2.2 ERACHE R1.2.2 _=
#£1.2.2 ERECHERX -
s *: it HR: EEE A _
1y
(m?) (in?) t2) (mi?) (km?)
e 1 1549. 99 10. 7639 3.861X 1077 1X107° _
Hi~}2 0. 0006452 1 6. 9441073 2.491X 1071 6. 452X 10710 -
ﬁﬁz 0. 0929 144 1 3.587X 1078 9.29X 1078 E
£ 2589999 — 27878400 1 2.59 3
K 1000000 — 10763867 0. 3861 1 F
r

H: 1m?=100dm?=10000cm?; 1mm?=0. 0lem?=0. 00155in?,




1.2.3 SRBMHA (K1.2.3)
£1.2.3 $RPAKAE

& g arKe Al HER? EEER | 2ENS | EENG =EBY
(dm?3) (in®) %) (qt) (USgal) (UKgal) (bbD)

25343 1 61. 0234 0. 03531 1. 05668 0.264178 | 0.220083 0. 00629
E 0. 01639 1 5.787X 1074 0.01732 0.004329 | 0.003606 0. 000103
FRS 28. 317 1728 1 29. 9221 7. 48055 6. 22888 0.1781
RSB 0. 94636 57.75 0. 03342 1 0.25 0. 2082 0. 00595
EENE 3. 78543 231 0.13368 4 1 0.833 0. 02381
HEmME 4.54374 277.274 0.16054 4.80128 1. 20032 1 0. 02877
LEFO 158. 98 9702 5.6146 168 42 34.973 1

QFAM,

. 1m3=1000dm3=10%m?; 1L=1000ml=1000cm®; 1L=1dm?%,

1.2.4 RREMGHE
1.2.4.1 FEMHE (F1.2.4.1) (GB/T 2624—93)
F1.2.41 RBAGHER
B4 m(t) o (O (kg) (@ Hff (N ® (b

T 1 1000 109 9.81%10° 2205
Fi () 0.001 1 1000 9. 81 2. 205
ﬁ 10-% 0. 001 1 9.81X107% 2.205X1073
1 102X 1076 0.102 102 1 0. 225
53 0.454X1073 0.454 454 4.45 1

1.2.4.2 B-TRHE 1.2.4.2)
#1.2.42 B-FEHENEE (11b=0. 4536kg)

5 (b o | 1t [ 2 [ 3 | a4 | 5 1 6 7 8 9
F3 kg
0 0. 00 0. 45 0. 91 1. 36 1.81 2.27 2.72 3.18 3.63 4.08
10 4.54 4.99 5. 44 5. 90 6. 35 6. 80 7.26 7.71 8.16 8. 62
20 9.07 9.53 9. 98 10. 43 10. 89 11. 34 11.79 12.25 12.70 13.15
30 13.61 14. 06 14.52 14. 97 15.42 15. 88 16. 33 16.78 17. 24 17. 69
40 18. 14 18. 60 19. 05 19.50 19. 96 20. 41 20. 87 21. 32 21. 77 22.23
50 22. 68 23.13 23. 59 24.04 24. 49 24. 95 25. 40 25. 86 26. 31 26.76
60 27.22 27. 67 28.12 28.58 29. 03 29. 48 29. 94 30. 39 30. 84 31. 30
70 31.75 32.21 32. 66 33.11 33.57 34. 02 34.47 | 34.93 35. 38 35. 83
80 36. 29 36. 74 37. 20 37.65 38.10 38.56 39. 01 39. 46 39. 92 40. 37
90 40. 82 41.28 41.73 42.18 42. 64 43.09 43.55 44. 00 44.45 44.91
1.2.5 FERBEAGHN
1.2.5.1 HREHBERMEE R1.2.5.D
#£1.251 RRREMHEX
[ F/4 K3/t F /et EEWNE/A | EEME/S EZEW/X
(L/min) (m?/h) (13 h) (UKgal/min) | (USgal/min) (bbl/d)
F/45r 1 0. 06 2.1189 0.21997 0. 264178 9. 057
K3/t 16. 667 1 35. 314 3. 667 4.403 151
FRI/B 0.4719 0. 028317 1 0.1038 0. 1247 4. 2746
HEWC/ 4 4.546 0. 02727 9. 6325 1 1. 20032 41.1
2 e/ 4 3.785 0.2273 8.0208 0. 8326 1 34.28
XEHE/X 0.1104 0. 006624 0. 23394 0.02428 0. 02917 1
1.2.5.2 REREHAHEHE (GB/T 2624—93) (K 1.2.5.2)
£1.252 AREEREAHNER
[ T3z /8t F/4 Fr/# e /Bt % /Bf B/
(kg/h) (kg/min) (kg/s) (t/h) (Ib/h) (Ib/s)
F# /0t 1 16.7X10~° 278X 106 0. 001 2. 205 612X 10~°
T3 /4y 60 1 16.7X1073 0. 06 132. 3 36. 7X107%
FR/E 3600 60 1 3.6 7.94 X 10? 2. 205
/6t 1000 16.7 278X 1073 1 2205 612%1073
B /At 0. 454 7.56X 1073 126X107% 0. 454X 1072 1 278X 1076
B/ 1633 27.2 0. 454 1. 633 3600 1




1.2.6 EHPEMGHE

1.2.6.1

&

1.2.6.1

ENBMNBEE (Z—) (GB/T 2624—91) (F£1.2.6. 1)
EHREHERZ

g ]2}?7‘1'@%&2 I AR B TRERSE | BAKE | ke | B/E
| (kgf/em?) (MPa) (bar) (atm) | (mmH.O) (mmHg) (Ib/in?)
N ERT 1 0. 0981 0. 981 0. 9678 104 I 735.6 14.22
JEBH (BFF) (MPa) 10. 2 1 10 9. 869 1. 02X 107 7.50x 103 1.45Xx102
© 1.02 0.1 1 0. 9869 10. 2% 10 750 14.50
HERSE 1. 0332 0.1013 1.0133 1 1. 0332 X 10% 760 14. 696
EHKEE 1074 9.81X107% | 98.1X 1076 |0. 9678 X 10—+ 1 733541079 [1. 422X 1073
K KBAE 1.36X107% 11.333X107¢|1. 333X 1073| 1. 316X 10=3 13.6 1‘ 1 19.34x107%
B/ B} 70.3X1073 | 6.89X107% | 68.9X10% | 68. 05X 102 703 51,72 1

f£: 1MPa=1000kPa =10°Pa=10. 1972kg{/cm? = 10bar = 9. 86927atm = 145. 0381b /in® = 7500. §2mmHg — 10. 19720
10*mmH;0,
1kgf/cm?=98. 0665kPa=29. 80665 X 10~ 2MPa=0. 980665bar=10. 967841atm=10mH,0="735. 559mmHg.
latm=0. 101325MPa=101. 325kPa=1. 033227kgf/cm?=760mmHg,
mmHg——0C, g=9.80665m/s2,
mmH,0——4C, g=9.80665m/s2,

1.2.6.2 EABEMHBE (27 (F1.2.6.2)

®1.2.62 FEHEGHEER ()
w g | AR Bt | OKRE B % RE Fog | EPKE | ER AR
(kg/cm?) (b/in?) (atm) (bar) (inHg) (kPa) GnH,0) ' (ftH,0)
AN b 1 14. 22 0.9678 0. 98067 28. 96 98. 067 394.05 | 32.81
B/ 0. 07031 1 0.06804 | 0.06895 2.036 6. 895 27.7 1 2.309
KEE 1. 0332 14. 696 1 1. 01325 29. 92 101.325 | 407.14 33.93
) 1. 01972 14. 5038 0.98692 | 1 29. 53 100 402. 156 33.513
kA 0. 03453 0.4912 0.03342 | 0.033864 1 3.3864 | 13.61 1.134
Tt 0.0101972 0.145038| 0.0098696 0.01 0.2953 1 4.02156/  0.33513
FEFkE 0. 002538 0. 0361 0.002456 | 0.00249 0. 07349 0. 249 0. 0833
PR AR 0. 03045 0. 4332 0.02947 | 0.029839 0. 8819 2.9839 | 12 |1
1 # 8 /352 (ozf/in?) =0. 0625 F§/BE2 (lb/in?)
1.2.7 BERMKE El.2.7D
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J

1EE( =144+« %(N-+m)

1 EBRFERFEE (calir) =4. 1868]
1 Ak 2k (calw) = 4. 1840]

1 20 CH(calyp) =4. 1816]

1 15C £ (caly5) =4. 1855]

1 BEHBA (Btu) =1. 05506 X 10%]
1FH - B kW h)=3.6X108]

DE FAEIER

Tl

1 EEF W) =1 445 « X/ (N« m/s)
1F5 S - k/F(kgf » m/s)=9. 80665W
1 KHI 5 7 (PS)=7. 35499 X 10°W

1 EH D H (HP) =7. 45700 X 102W
1R - BES/F U« Ibf/s)=1. 35582W

FEIBTRARX

J/(kg » K)

1F+/F5% « Clkealir/(kg + C)]=4.1868 X
10%)/ (kg * K)

"
SN

"

k3




gk
B4 S1 A 4 S1 #2775 % % m
o {p 2% / . L/ (kg « ==
L HLE B TR Vg || PIFT R - Clkeala/ (kg - O]
4.1810X 10%)/ (kg » KD
1 ERE (7B - °F(Bru/(b » “F)]=4. 1868 X
10%] (kg + K)
/ 2o B oo C keal m? s » =
REM EACACESE ST Wit g [N T ROERE B Clenli/Gem? e s O]
4.1868X10"W, (m? « K)
o ¥ o (" keal e 5 o C =
AEHGRFI | KOS BRI AL W/mexy |17 FEX B Cokeal (em s O]
4.1868X10°W/(m + k)

1.2.9 ZhHMEn AGriE (£1.2.9
®1.2.9 EhHREnBEBRER

To/ (B« B 7/ CK « B TR/ - 7 N Y < B/
B |[g/em-)]| [g/(m+s)] E};ng;gtsﬂﬂ R R s %iﬁz
GH.PY | GEH.cP) | Paes) | Chghes/mey |8/ WIPIb/ e )Tl 00
Z/EK B 1 102 0.1 10.2X1073% | 3.60X10% | 6.720X 1072 2.089X 1073
/K # 1072 1 1073 10.2X10™8 3. 60 6. 720X 107 | 2. 089X 1075
TR/ %8 10 108 1 10.2X 1072 3.6X103 0. 6720 2.089X10°2
T35« R/ k2 98.1 9.81X10% 9. 81 3.53X 104 6.592 0. 205
TF/ Kk« BF | 2.778X 1073 0.2778 2.778X 1074 | 2. 833X 1075 1 1.867X 107+ | 5.801 X106
B/RR - B 14. 88 1.488X 103 1. 488 0.1518 5.357 X103 1 3.108X 1072
WA B /BN 4.788X102 | 4.788X 10 47. 88 4.882 1. 724X 108 32.17 1
1.2.10 BEhEE v BABE (5 1.2.10)
®1.2.10 BEHHEE v BEBEE
N *2/8 Exe | mXB et wRUB | ERE
B (m?/s) (cm?/s) (mm?/s) (m2/h) (F2/s) (H? /by
., Sv (EHr, St ’
K/ 1 104 108 3600 10. 76 38. 75X 103
JEXK2/ 1074 1 100 0. 36 1.076 X103 3. 875
2K/ 1078 0. 01 1 3.6x1078 10.76X107¢ | 38.75X 1073
K2/ mt 277.8X 1078 2.778 277.8 1 2.99%X 1078 10.76
BRE/FP 92.9X 1073 929 92.9X 103 334.5 1 3600
HER 2/t 25.8X1076 0.258 25.8 92.9X 1073 2781078 1
HOKE 7 5EAKE v WIE AR,
J—
14
KAF v EAL: St (mm?/s);
7EAT. 107°Pa+ s=1cP (g/m *s);
e BAfi: g/em?®,
1.2.11 HERMHE E1.2.1D
1211 BEHMBAR
3 3 3 3
e R B /9 BN B/
/K (4/m®) I /L) (Ib/in?) Ab/ft®) (Ib/UK - gal) (Ib/USgal)
1 1000 0. 03613 62. 43 10. 02 8. 345
0. 001 1 3.613X 1075 0. 06243 0. 01002 0. 00835
27. 68 27680 1 1728 277. 42 231
0. 01602 16. 02 0. 00058 0.1605 0.1337
0. 0998 99. 8 0. 0036 6. 2288 1 0. 8327
0.1198 119.8 0. 004329 7.48 1.201 1




1.2.12 EHARERMAHE (F1.2.12 ‘
1212 $HAREECHAR -

L e H Ry B RIBHEH R B BESHR RE RH —
mg/m? pg/m? 1000 ppm, R E Hit |mg/m? 1.198

ng/L 1.0 pg/m’ 1.198%X 1073 —

ppm, AR (20 C) 24. 04/M ng/L 1.198 -

ppm, HE &it 0. 8347 ppm KR 20C) 28.8/M =

1b/ft? mg/m? 16. 018 108 E

ppm, FAERIF |mg/m3 M/24. 04 g /m? 15, 018X 10° E

20 pg/m? M/0. 02404 pg/L 16. 018 X 10° B

ve/l M/24. 04 ppm, AR (20C) | 385. 1x10°/M _

ppm K & it M/28-8 ppm, R E &it 133. 7% 10 _

E:M—aTE. -

4

1.2.13 ZHEESMCHE(E1.2.13)
®1.213 FHEERGHEEE

i Hf‘ oy

# X E@xﬁmmﬂt@%w@z—ﬁ*) HXNEE | B R bR AR HE R (S MR
C °F g/m® | ppmy pPpMuw QOCOY% | ¢ o g/m3 | ppm, ppmw 20C)HY% -
—70 | —94 10.00207| 2.5 1. 64 0. 001 —10 14 2. 06 2560 1590 11 _‘
—60 | —76 [0.00857] 11 6. 59 0. 005 0 32 4. 84 6020 3800 26
—50{ —58 | 0.0312 39 24.2 0.02 10 50 9.21 |12100 7729 52
—40 | —40 | 0.102 127 79.1 0. 05 20 68 18.5 |23100 100
—30 | —22 | 0.301 376 234 0.2 30 86 36.6 41800
—20 | —4 0.816 | 1020 635 4 40 104 58.5 73000

1.2.14 FEHABTIHBHEMRERE(E1.2.10)
#£1.2214 EHBATHESRRHEES

YR it B o®m i K o#% H
AR By Ll - A
HF U % B 5 % W " 5 HERBEXE
B[ &) Q Elt] C
T4 kA
: A=10%A
Eﬁﬁ ! ﬁ.[fg] A %f(‘ mA 1A:11k03m;<):106 A
e pA ' s
Tk kv
KV =10%V
i LEEH% UE | ROE] |V Eik mV N
N % #
JERR MO IMQ=10%k0=10%Q
A
s K BRLA “ T Bk kO 1k=103Q
A BH R p BR - K Q+¢m B« B2/ % Q » mm?/m 1Q » m=10%Q « mm?/m
EERUERIEY:- X 5 a c-! Cc-!
_ EY mH _ -
AL X L =[F] H e i 1H=10*mH=10%:H
[>% F
HLA c ESETd F gi gF 1F =106uF = 10'pF
B X1
B Xc _
e X &) LT
ISk VA
= JEAE MH:z s _
iR f wI2E] Hz i \Ha 1MHz=10%%kHz=10%Hz




gik
¥ EE it B o8 1 R B O
AR R Y HOR B HE R A
Gl (s % B 2 E 5 HERBMRER

I T 193 s iz j 1s=10%ms =10%us
Eh R P RES w FE kW kW=10°W
T & Q z var Tz kvar lkvar=10%var=10°W
e S e VA T2z kVA 1kVA=10VA=10%W
R E R cosg

. 4.k N+m INem=1]

e |

s B Gw) | ®LE] ! RN eV 1eV=1.60207 <107 ¢]
b W, | BLH] J FIH + /PR kW - h 1kW « h=3. 6 10%]
# Q #H] ] F£ keal 1kcal =4. 1840 X 10%]
R E @ #0114 Wb E R Mx IMx=10"%Wb
TR N . — .
T B LR Eal T = i Gs,G 1G=10"*T
s “ =[#]/k] H/m
p| F A ] N FRH kgf 1kgf=9. 80665N
pagil M 4ok N-m TRk kgf + m lkgf » m=9. 80665N * m




